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What is the value of the digit 7 in 3.72?
Circle your answer.
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[1 mark]
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The reciproeal of any prime number p (where p is neither 2 nor 5) when written as a decimal,
is always a recurring decimal.

A theorem in mathematics states
The period of a recurring decimal is the least value of n for which p is a factor of 10"—1
Hugo tests this theorem.
He uses his caleulator to show that 37 is a factor of 10° — 1
Hugo then makes this statement.

“The period of the recurring decimal equal fo the reciprocal of 37 is 3 because 37 is a
factor of 10° — 1. This shows the theorem to be true in this case.”

(e) Explain why Hugo’s statement is incomplete.
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15 (a) Prove that the recurring decimal 0.3 has the value %
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Show that. when x is written as a terminating decimal. there are 180 zeros after the
decimal point.
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8 Onafarm, 45 out of every 15 acres of the land are used to grow crops.

B 5
Wheat s grown on = of the land used to grow crops.

‘What percentage of the total area of the land on the farm is used to grow wheat?
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1 () Workout 16-6%2

(b) Write 0.7 as a percentage.

(c)Wme%:sadmmz.l

(d) Find 15% of 120

(Total for Question 1 is 5 marks)
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2 Write these in order, smallest first.

0.34
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smallest

3 Colin drinks g of a litre of milk each day.

Milk costs 89p for a 2 litre carton and 49p for a 1 litre carton.

What is the smallest amount that Colin would have to spend to buy milk for one week?
Show your working.
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